541%
N
dJjn
i
b
S

SFIEQ0214E)E e dEERIEEN R T ESH
EETEE
SR3EAA 1 ANSGF44E3H 31 HET

FREIEHANEEIE N FEfi~ Ve AR E Ry T — (LA )

£ H FiE B T KA 7= W A
(& AU DHER)
[ RRFUADE
1 SEZA
PN 66,000 84,000 18,000 f 1 A2044 X 3,000
RPN 30,000 30,000 0 AR 4%6,000
N 0 0 0
= PN 96,000 114,000 18,000
2 HEHENA
'%%&5&?@%%1&7\ 0 0 0|E AT,
WHE AR DO SR F A 0 0 0|tz —Bife, S REF RIS
AR ZE - 15 AR A 0 0 oy s T i
RO 0 0 0 Bﬁ‘“ﬂ%ﬂ% R
3 ffiBh4- B A
Tt F¥EE 0 0 0
TR EE e 0 0 0
ZOMFEZEIA 0 0 0
NS N (aV) 96,000 114,000 18,000
I R ZHOE
1 H=EE
e 3 0 20,000 20,000 |# ks ssints
WHE AR D P 10,000 60,000 50,000 [akstis, L3 —, v a s
AT A 3 2 61,890 0 A 61,890 ITERT T b L
FEREE OV 0 0 0B S AR He 484
HEHRAF 71,890 80,000 8,110
o EPE
FI1 il A 3,640 20,000 16,360|=°—1%;
s 40,698 45,000 4,302 T A— I AF(L, EEELL
A A — T SR 27,500 20,000 A 7,500 V/&/vﬁ—/\ﬁﬂ@ﬁﬂ
AR AL 0 30,000 30,0003 —EATEHAL
ity 10,258 15,000 4,142 EP = FE G = R
iG-Sk ¢ 0 10,000 10,000| TN A #
WY EE N 272 10,000 9,728| L A,
T X 16,500 20,000 3,500
ey 0 15,000 15,000 (& tEuk s S B il
m@/\% 0 0 O|FITHEAL
ey 5,765 20,000 14,235 |43 7 MR — N2
EHEEAE 104,633 205,000 100,367
e XHEE  B) 176,523 285,000 108,477
”%“HBZ#%E (A)-(B)=(C) A 80,523 A 171,000 A 90,477
I %@@%ﬁﬂl@%
= HOH]E 8 10 2| e 15 /s TE4 ] R
FOMESMNAAET (D) 8 10 2
IV ZOME & HOES
1 [EEEERS 0 0 0
2 Tt 0 0 0
FomEaeXHAaE  (B) 0 0 0
ZOME I FZEE (D)-(BE)=(F) 8 10 2
YN =R (O + (F) A 80,515] A 170,990 A 90,475
AR S %A 1,013,443 932,928 A 80,515
WY 3 72 %A 932,928 761,938 A 170,990
(IE R A PESE IR O ER)
V. IEBRH RO
1 EPERINEE
AN S FERA A 80,515 A 170,990 A 90,475
2 BAEWEEE
HINKE A5 A 80,515] /A 170,990 A 90,475
VI BRI EERD OB
1 EPERDEE 0 0 0
2 AEHIINE 0 0 0
BT 0 0 0
4 10 1 R U H N A 80,515 A 170,990 A 90,475
T el 1 e A pE 1,013,443 932,928 A 80,515
2 E R PE B B 932,928 761,938 A 170,990

14




